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candidate will be liable [or the same.

2. Read all instructions on the reverse o OMIU Answer Sheei.
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5. 1/3 part of the mark(s}) of cach question will be deducted for cach wrong answer. (A wrong answer meals an incorrect answer or more
Lthan one unswers or any question),

6.  Fach question has ive oplions/cireles. First four optionsieircles (A), (B, (C) and (D) are relaled o appropriate answer and [ilih option/
circle “(E)Y is related to *Question not attempted”.

7. To indicate the correct answer, the candidate has to ill in only onc option/virele (A), (B), (C) or {I}) with bluc ball point pen for
respective question number on the OMR Answer Sheet, It the candidate docs not want 1o answer any question then the tifth option/eirele
“(EY should be darkened.

8. 173 part of the marks will be deducted tor the questions, if none of the optionseirele are darkened.

9. Ifacandidate leaves more than L0 pereent questions or does not darken any ot'the five options, he/she will be disqualified for the exam.
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Which of the following cnzymes helps in the breakdown of
fats during the process of digestion in the human body?

(A) Amylase (B) Trypsin

{Cy Pcpsin (D) Lipuasc

{E) Qucstion not attcmpted

If the two allcles for a particular gene are identical, then the
gene pair is called:

{A) Homorygous

{C} Rceessive

{E) Qucstion not attcmpted

(B) lleterozygous
(D) Dominant

Which of the tollowing cowntrics will host the Asian Games
in the year 20267

(A) India (B} China
{Cy United Arab Cmirates (D) Japan
{E) Qucstion not attempted

S

When was the first Foundation Day of the Lokpal of India
celebrated at The Manekshaw Centre, New Delhi?

(A} 16 March, 2015 (B) 16 January, 2025

{Cy 16 January, 2015 (D) 16 March, 2025

{E) Qucstion not attcmpted

What was the thenie of the Indian Union Budget 2025-26
presented by the Finance Minister of India?

(A} Digital India

(B} Sabka Vikas

{C} Next Generation Retorms

{D) Vasudhaiva Kutwmbakam

(Ey  Question nol allempled

The Prime Minister of India visited which National Park Lo
chair the 7t mecting of the National Board of Wildlife on
March 3, 20257

{A) Gir National Park

(B} Ranthumbore National Park

{Cy Kaziranga National Park

(D} Jimi Corboett National Park

{E} Question not attempted

Tn which state ot Todia is the *Neermahal testival”
celebrated?
{A) Assan
{C) Meghalaya

{E} Question not attempted

(B) Tripura
(D) Nagaland

Which city of Rajasthan hosted the 120t Regional 3R and
Cireular Economy Forwm i Asia and the Pacific?

(A} Jaisalmer {R) Jaipur

{Cy Udaipur (D) Jodhpur

{E} Question not attempted

Which of the following awards was comferred to Shri Sheen
Kaal Nizam (Shiv Kishan Bissa) of Rajasthan in the year
20257

{A) Sagar Samman Award (B) Padma Vibhushan

(Cy Tadma Bhushan (1) Tadma Shri

(F)  Question not allempled

Which of the Tollowing Ministry of the Government off
India, is organizing the National Dutegration Camp,
Rajasthan 20257

(AY Ministry of Tribal Affairs
(R} Ministry of Youth AlTairs and Sports
{Cy Ministry of Health and Family Welfare
{D) Ministry of Agriculture and Farmers Weltare
(E) Question not attempted
] Sy st A el A
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In  January 2025, Parvati-Kalisindh-Chambal-Eastern
Rajusthan Canal Project (PKC-ERCP) Link Project has
been renamed o -

{A) Ramjal Setu Link Project (RSLIY)

{B) Jal Sctu Link Projcct (JSLP) &
{Cy Rum Jul Link Project (RILP) &
(D) Amrit Jal Link Project (AJLP)

{E} Question not attempted

A0

According to the Rajasthan State Budget 2025-26. a toy
park will be established at:
{A) Chittorgarh

(Cy Udaipur

{E} Question not attempted

(B) Kota
(D) Jodhpur

Which of the following storage disks is made up ot metal
and coated with metal oxide, and also have data storage
capacity in GB and TB?

(A} Iard Disk

{C) Blu-ray Disk

{E) Quecstion not attcmpted

(B) Floppy Disk
(D) Compact Disk

In Computcer, which of the tollowing software is designed to
control operations?

(A} Device Solware

{Cy Utility Software

{E) Quecstion not attempted

(B) System Soliware
(D) Applicatiion Sottware

What is the main purposc of the feature called “Mail Merpe™

in Word?

(A} To Prinl documents in bulk

{B) To create document in pdf format

fC) To creatc a batch of documents that arc personalized
for cach recipient

(N} To check spelling ol a document

{E} Question not attempted

The network security program or device that filters the

wiormation comung through an internet councction is

known as:

(A) Hackers

{C) Crackers

{E) Qucstion not attcmpted

The full form of BCC in E-mails is:

{A) Blind Collection Copy (B) DBlack Collection Copy

(Cy Black Carbon Copy (D) Blind Carbon Copy

{E} Question not attempted

(B) Cookies
(D) Firewall

Through which Indian Constimtional Amendment, were the
Fundamcntal Dutics incorporated?

(_{‘\} 4211(1 (B) 441{'1

() 5o () 36"

{E} Question not attempted

Under Article 217 of the Constitution of India, who among
the following appoiits the Judge of a High Cowrt? (Clioosc
the most appropriate option from below)

(A} Chiel Minister of the stale

{B) Trime Minister of India

{C} President of India

(D) Advocate General of the state
(F)  Question nol atlempled
3 A 3 4 A 3
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Which ot the tollowing is not the necessary qualitication tor
the appoiniment ol o Governor in 4 stale?

fA)} Must be a citizen of India.

(B} MusL be a member ol the .ok Sabha.

fC) Must be at least 35 vears of age.

(N} Canmol be a member ol the Rajya Subha.

{E) Qucstion not attcmpted

Who is the head of the council of ministers who aid and
advise the Governor in the exercise of his‘her functions.
cxeept inmatters where the Governor acts intheir discretion'?
{A) District Collector (B) Mimster of Home Affairs
{Cy Chicf Minister (D) State Finance Minister
{E} Question not attempted

Who is the Speaker of the 1600 Rajasthan Legislative
Assembly {(as of June, 2025)7

{A) Kailash Chandra Meglhwal EH;EI
(B} Dcopendra Singh Shekhawat %
{C) Vasudev Devnant

(D) Rum Niwus Mirdha

{E} Question not attempted

Where 15 the principal seat of the Rajasthan High Court
located?

{A) TJaipur

{Cy Ajmer

{E} Question not attempted

(B) Jodhpur
(D) Udaipur

Where 18 the headquarters of the “Central And Zone
Rescarch Institute™ (CAZRIY located in Rajasthan?

{A) Jaipur (B) Jodhpur

{Cy Bikaner (D) Jaisalmer

{E} Question not attempted

Sawai Jai Singh, in the vear 1734, organized a conference of
all the rulers of Rajasthan to face the Marathas offectively
and stop their entry in Rajasthan. What was the name given
to this conference?

{A) Hurda Conterence (B) Sanganer Conference
{Cy Ambabari Conference (D) Jaipur Conference

{E} Question not attempted

Who amony the tollowing was imprisoned at the Todgarh
Fort for organizing a revolt against the British?

{A) Tratap Singh Barhat (B} Daulat Mal Bhandari

{C) Sagarmal Gopa (D) Rao Gopal Singh Kharwa
{E} Question not attempted

Which of the following princely states was nat part of the
Matsya Union, during the integration of Rajasthan? (Choosc
the most appropriate option from below)

(A) Alwar (B) DBharatpur

{Cy Jaipar (D) Karauli

(L) Question not attempted

Name the famous musician who was awarded with the
famous Grammy award and who also invented Mohan

Veena.

{A) Pt Vishwa Mohan Bhatt (B}  Tagjit Singh

{Cy Allah Jilai Bai (DY 1la Arun

{E} Question not attempted
4 A . 4 A
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Name the journalist who started the newspaper “Rajasthan
Patrika™ in the year 1956.
(A} Komal Kothari

{C) Birbal Singh

{E) Qucstion not attcmpted

{B) Kripal Singh Shekhawal
(D) Karpoor Chandra Kulish

Onc man can do a work in 72 days: Four men and five
women worked together and completed the work in 12 days.
How many days will one woman take 1o do the work?

(A) 144 (B)y 90
_ OEAD]
35 7
(Cy 1 (D) 180 %

(L) Question not attempted

A person travels 325 km in 6 hours. At first he travels some
distance by bus al the speed ol 40 kim/hr and then he travels
the remaining distance hy train at the speed of 65 km/hr.
How much distance finkm} did he travel by train?

Ay 221 (B) 229

(Cy 211 (D) 230

{E} Question not attempted

Tn a school 1200 students are studving. They choose
different mcans of transport for coniing 1o school. Number
of students are represented with their means of transport in
anie digoram.

150 sindents
walking

percentage of students go (o school walking and
percentage of students go by bicyele.

{A) 13,26 (B) 12,24

(Cy 15,30 (D) 30,43

(F) Question nol allempled
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{Cy Question not attempted
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{E} Quecstion not attempted
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(C) TTETE R (D) afEmTsTEE faemor

(E) Question not attempted
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(A) T (B) 99 !
(C) ® (D) TH CE

{E) Qucstion not attcmpted

T2 5 g B 3T “TATeeA ek Term T B 37 8

(A) BT (B) TR
(Cy FI= (D) et

(LY  Question not attempted

Which one of the following is the monwmental works of the
famous poet, Suryamal Mishran of Bundi, Rajasthan?

(A) Uhrvashi (B) Kamayan

(C)  Sansmaran (I Vir Satsai

(E} Question not attempted

The dialect majorly speken in Kota, Bundi, Jhalawar and
Baran rcgion 18 called (Choosc the most appropriate
answcr):

{A)y Mcwatl

{C) Hadoti

{E) Qucstion not attcmpted

(B) Malawi
(D) Dhundari

What is the another name for the Kota Doria Saree? (Choose
the most appropriate option from below)

(A} Kota Gota Patti Sarce (B) Kota Banarasi Sarce

(Cy Kota Cotton Savee (D) Kota Masuria Sarce

(L) Question not attempted

Which of the following Rajasthani omaments 18 nat wormn
on the feet?

(A} Nupur

(C) Daamna

(E) Question not attempted

(B) Thanjhar
(1)) Langar

Which of the following instruments, fhlls under the
classification ot “Sushir” instruments?

fA) Algoza {(B) Tasha

{C) Ravanahatha (D) Elktara

{E) Qucstion not attcmpted

Name the founder of the Bishnoi sect.

(A} Pipa {B) Dhanna

(C) Jambhoji (D) Ilarbhuji

(LY  Question not attempted

Who founded “Rupavan Sansthan’ at Borunda n Todhpur
district for the promotion of folk culmre?

(A) Kimal Singh Shekhawat

(B} Kamurchand Kulish

(C)y  Acharva Tuls

(1} Komal Kothari

(E)
Who out of the following, is the highest ranking police
official in Rajasthan state?

Question not attemmpted

fA) Inspector-General of Police (IGP)
{B) Dircctor General of Police (DGP)
fC) Scaior Superintendent of Police (SSP)
(D} Dcputy Inspector General of Police (Deputy IGP)
{E) Qucstion not attcmpted
# i £ & b £
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USTET AT SR (ATCATSHT) =67 7T el (1 7T a2

(A) 2008 {(B) 2006
(C) 2007 (D) 2009
(L) FE@TT

T T AR S (2003) T g3 SR A AT,
T freferiaa | o s-ur st e s B an
(A) AT h! T STHE, 2002

(B F= T Tl SATTE, 1990

(C) F= aF Tg AEfI, 2001

(D) ST ET A, 2002

(F) 3rfaia o4

faferfiga # & SH-4T a1g, ST aehe & A 4, F H
[ELINGK F R RS I

(A) T (B) @&
(C) =TT ISITIERL]
(F) 3rfaia o4

U 37T 240 § IR, 3527 391 U ATHR F1 Wil
T I 214 5, AT T e 2

(A) BT g™ (B) FHTT
(C) =5l &5 9T (D) kAT hg d 9L
(F) Srfaia 4

LG ITRE 2 LR CERE RIS RV R NI N
) B T =

i 1 (@ Tt 11 ()
a.  OTAHIEE 1. 35&[
b,  HINE TREREL i}
¢. UEH 111, SfrEmy
d. ERME IV, ST (2SI
e o fepedl 4 B 3 -

(A) a-ll, b-TV, ¢-1IT, -1
(C) a-I, b-11, ¢-1, d-1V

(By a1, bTl, g4I, d-1V
D) a-IL0, b-LV, ¢-I1, d-I

(E) oFgHia 9

foreferfias & - aer aate w9, $2 f § s
G € 2T 5T 27

(A) T (By ST

(C) FISIfe (D) wETEE

(E) oFgHia 9

HTHT JTefl, FTuR Al ST A@TEne! et 7 e, Tstee
F Faferfiga 9 € fora Fsere $o § d=fag 22

{(A) @.f(‘-?l@'ﬁFﬁ (By HdTE It
(C) HHATS Jeft (D) TEETAe  EAE
(E) i@ v (=

Frmtafag & 9 - T § WG Y9 9 e 50§
o ffitar s et &2 (1 5 & e 39 e 9)

(A) W8S (By &t
(C) == (D) =8
(E) e 9

[ Ay Y By
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When was the Rajasthan Information Commission (RIC)
constituted?

(A) 2008

(Cy 2007

{E) Qucstion not attcmpted

{(B) 2006

5
(D) 2009

=]

Which of the tollowing Acts was repealed when the Riglit to
Tnformation Act (2005) was passed and came into force?

(A)
(B}
()
(D)
(E)

Which ol the Tollowing metals cannot displace copper lrom

Freedom ol Information Agl, 2002
Freedom of Information Act, 1990
Access to Information Act, 2001
TPersonal Information Act, 2002
Question not atlempled

copper sulphate solution?
{A)y Znc

{C) Silver

(E)  Question nol altempled

{B) Iron
(D) Aluminium

A concavemirror gives real, inverted and same sive image,

when the object is placed:

fA) attocal point

{B) atinfimty

(Cy

(D)

(E)

Match the discascs (piven in list 1) with the discasc-causing

pathogens (given in hst TT):
List [ (Disease)

al venlre of curvature
beyond centre of curvature
Question not attempted

List IT {Causes)

a.  Typhoid [.  Worms
Malaria II. Virus
ATDS [M. Bacterium

1V,
Choose the correct answer from the options provided:
fA) a-ll, b-IV, c-II1, d-1 (B) a-I, b-II1, 11, d-1V
{Cy a-lln, b-IT, T, d-TV (D) a-1, b-TV, c-IT. d-I
(E)  Question nol allempled

d.  Elephantiasis Plasmodium (protoroan)

Which
associated with narrating storics from Phad paintings?
{A) Bhopas {B) Banjaras

{C) Kalbelias (D) Sargodas

(E)  Question nol allempled

of the TMllowing community is traditionally

The Amer style, Jaipur style aud Shekhawati style of
painting are associated with which one of the following
painting schools of Rajasthan?

(A} Dhundhad school (B} Mewar school

{Cy Marwar school (D) Hadoti school

{E} Question not attempted

Which ot the following is net a structure, traditionally
constructed for water conservation in Rajasthan? {Choose
the most appropriale oplion (rom below)

{A) Johad (B) Chhatri

{C) Tanka (D) Baon

(E) Question not attempted

) e A e s Jy
3 i & i )
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TSTET W o] = OE , BT, TR S aure s i o ool
¥ IEET I 3

(A) TaTett (B) <0

() = (D) Tt

(E) oFgHia 9

(A) VT H (B) wiEnsd

(C) @ H (D) FmEy

(F) 3rfaia o4

fafetiigd # ¥ #-81 I@EET &7 % @l 5 Y&
T A h-T &, T8l (ARt A7 % TR T/ A4F T

(A) =i g7 (B freTa
(©) W= (D) F=3 =gl A
(E) oFgHia 9

AT 1ZF “TRR S (AW &) T & e g & s o
Tt B

(A) A (B) 2

(C) 3TTX (D} wTR

(E) oFgHia 9

T = ettt & o o, fom o & ey iy g &2
(A) HF (By I

(C) wig=TeT (N} SETHL

(F) 3rfaia o4

fAfetiigd o 9 1981 WIea TRATT €= ohT ST 3 4o
B H T =

(A) THTSETE! (B) TAFATIF
(C) TORTSA (D) 7y E5E
(F) 3rfaia o4 B
61  Choose the most suitable word to fill in the blank in the
tollowing scntcice:
The auditorium has a scating for seven hundred
students,
(A) capability {B) capillary
(C) capacity {D) capitulation
(L) FE@TT
62 T[ill in the blanks in the following sentence with the most
suitable pair ol arlicles:
Being M. A only, lie could not be appointed to the
post of Assistant Professor.
(A) the, an {3y «,the
(Cy the,a (D) an,an
(F) 3Tl o=
63  Fillin the blank in the following sentence with the most
approptiate determiner:
have brought you home.
(A) 1 (By Me
(C) She {Dy Tt
(E) e 9
LK33CL 1 & & 5 E
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61

62

On which festive occasion, do groups of Rajasthani men
sing songs like Hori, Rasiya, and Dhamaal?

(A) Diwali (B) Dussehra
{C)y Tegj _ (D) Hok E5E
{E) Qucstion not attcmpted = i

Chand baori (Stepwell) is located at -

(A) Abhuneri (B) Bhndarej
{C) Bundi (DY Amer
(L) Question not attcmpted

Which ol the [(ollowing is a commercial lolk-dance
performed by the men of the Shekhawati region, especially
on the occasion of marriages where dancers dresscs up like
4 warrior?

(A} Agni dance
(C)y Gair dance

{(B) Gindad dance

(1) Kachhi ghodi dance

{E} Quecstion not attempted

The folk drama Chahar Bayt (Chaar Baint) Is assoclated
with which ol (the Tollowing places in Ryjasthan?

{A) Jaipur (B) Tonk

{Cy Udatpur (D) Alwar

(L) Question not attempted

In which ol the Tollowing regions of Ryjasthan, is | larshnath
temple located?

{A) Sikar

(C) Banswara

(F)  Question nol atempled

(B) Bundi
(D) Jaisalmer

Which of the following words was not there originally in
the Preamble to the Indian Constitution.

(A} Socialisl

(C) Republic

{E} Quecstion not attempted

(B) Democralic
(1)) Sovereign

Choose the most suitable word to fill in the blank in the
following sentence:

The auditorium has a seating tor seven hundred
students.

{A) capability

(Cy capacily

{E} Question not attempted

(B) capillary
(D) capitulation

Fill in the blanks in the tollowing sentence with the most
suitable pair of articles:

Being M.A. only, he could not be appointed o the
post off Assistant Protessor.

{A) the, an (B) a,the

(Cy the, a (D) an,an

(F)  Question nol atempled
Fill in the blank in the following sentence with the most
appropriate determinet:

have brought you home,

(A T {(B) Me

(C) She (D) Tt

(L) Question not attempted

&y i s i3 Lo )
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64 Match the following sentences (given in list 1) with the
appropriate prepositions {given in lst [Ty in order to fill in
the blank of the respeclive senlence:
List 1 (Sentences) List 11 (Prepositions)
a. Do not rob me L above
my dignity by
asking such a question,
b.  He threw the book
the table.

The flags waved

1. to

M. of

o

our heads.

d.  Terrorists arc a meonace 1¥V.  upon
the sccurity of
this country.
Choose the most appropriale answer [rom the oplions given
below:
(A) a-IV, b1, eIl d-11
(Cy a-1, b-TIT, e-T1. d-TV

(F) Sraia s

Choosc the option with the most appropriate use of

(B) a-IL, b-IV, -1, d-1I
(D) a-TIT, b-T1, =TV, d-T

punctuation(s):
2y

{(A) Oh we are ruined?

{B) They have been 1o London, haven'| they?
(C) The jester cried help? help?

(D) Krishna is dark skinncd Radha is tair.

(E) Srfaia 74

Convert the following scutence from Hindi to English:
T - i samee! e 0

(A)
(R)
(€
(D) Who is answerable for this itresponsibility?

(F) rfdia 94

Convert the following sentence from Loglish to Hindi:

66

Who is accountable for this mistake?
Who is (o be blamed lor the wroubles’?
Who shonld we accusc of this crime?

67
All my sympathics arc with you.

(A) ¥ wITeRl 3T I FRITHfA & 2|

(B) 379 |1 BHI S R TR

(C) o e ST " R

(D) R 3 TR H AT W1 T e B

(F) 3rfaia o4

AT F [CE T LCM T I 1:6 71 77 31 sheair
FTIO 96 2, ql STH LCM 70 L |

(A) 12 (B) 18

() 24 (D) 48

(K) #abd 9%

35 T, 28 HiEed 37T 32 T8 T WIS | 7T Teieh e,
Tfee S T W HEAM: T 138, T 205 R T 225 Hwd =4
BT Wi =Th HTGd =29 (Feheaw T % e §:

(A) T 185 (Ry 187

(C) T 189 (D) 190

(E) ¥R o

3

LK33CL { %
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69

=
™

AR

[E:4E
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64 Maich the followwg scntences (piven in list 1) with the
appropriate prepositions (given in list 1) in order o fill in
the blank ol the respective sentence;

List T (Sentences) List IT (Prepositions)

a. Do not rob mc L. above
my dignity by
asking such a question.

b.  He threw the book I to
the table.

¢.  The flags waved L. of
our heads.

d.  Terrorists are a menace V. upon

the security of
this country.
Chaoose the most appropriale answer [rom the oplions given
below:
(A) aIV,b-I,e I d-11
(Cy a-L, b-UL, ¢-1I, d-IV
(E)  Question nol allempled

(B) a-IL b-IV, ¢-1, d-IT
(D) a-lI, b-11, -1V, d-I

65 Choose the option with the most appropriate use of
puuctuation{s):

(A)Y Oh wo are ruined?

(B} They have been o London, haven’t they?

{C) The jester cried help? help?

(D) Krishna is dark skinned Radha is fair.

(LY Question not attempted

66 Convert the following sentence from Hindi to English:
E: RIS LA NN EICEH N E O &

{A)
(B)
()
(D)
(C}

Converl the (ullowing sentence from Hnglish wo Tlindi:

Who is accountable for this mistake?

Who 1s 10 be blamed lor the troubles?

Wha should we accuse of this cime?

Who is answerable for this irrcsponsibility?
Question not attcmpted

67
All my symipathies are with yow
(A) H ST AT AT RIS < &)
(B) I | T 3 FRTTfa T
(C) ol wEr T ST | 2|
(D) ¥ 59 TR H STI9 AT AT w2

{E) Quecstion not attempted

[0 w]
. E

68 The ratio of LICF and LCM of two numbers is 1:6. 1f product
ol the two numbers 1s 96, then Nind their LOM,

Ay 12 (B) 18

(Cy 24 (D) 48

(LY  Question not attempted

35 children, 28 women and 32 men went to a restaurant. The
average amount spent on a child. a woman and a man is
T 138, ¥ 205 and T 225 respectively. The average antount
spent per person (correct Lo nearest rupee) is:

(A) T 185 (BY T 187

{(C)y T 189 (Dy T190

(L) Question not attempted
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LK33CL 1

200 HieT o=l Ush EnTST 160 Hiet wislt ush g il 24 Whs Y
I FAT 21 et i v o €7

(AY 15 Tordt /s (B) 18 Tohel / =i

(C) 54 Tt /e (Dy 72 fopeft /sy

(E) oFgHia 9

TR FITFTH R 7,500 F S0 T 20% F7 704 811 2 3R 0
9% T T 8,550 H s= 9 5%, kI 2 Sl 2 39 A S
(A) BH,3.72%
() 7, 6.26 %
(L)  Sgaie 9
AT 3199 Fa T 35% 9T 9IS 9T T9T 25% 9T Ted)
T1eT U7 S T E1 T2 I S $0% T F R 9 =g
FAAT &1 THF FTZ Sa T (a1 AT I8h TTE IY =T €7

(B) <M, 5.24 %
(D} W, 4.18 %

(A) 10% (B) 8%
(C) 6% (DY 4%
(C) F7afawe

BT 9 T 27,000 =1 T 0 F 9FT 13% FIAT 410 5%
T 1T = @ wraw s o e e | 9 4 as e s
AT T ¥ SRISE 4TS STH §9AT, A1 5% S4Tel Sl AT & 9T
ferarar < g WS A

(A) T 13,500 (By 7,500

(C) T 8,000 (D) 19,500

(E) oFgHia 9

T 78,125 |5 HEW F o Lo =1ivers 30 7, =wkahe s 9
L, ST SIS SAGANN W17 21 & 2l

(A) T16,645 (B) T20.290

(C) TRU65 () T35410

(L) FIE@aws

U ST 4 T4 § ARl s W = 1 60% 98 Sl 2
¥ 9,200 T2 99 H 21 A1 & H FAshlg =1 FT 2T el
ST =7 IO S B

(A) 2,967 By 2,657
(€) T2.679 (D) T 2,976
(F) rqaia g%

840 fernfeiat et v Fenera 1 vl sivasindl $ e d
AT 5.3 21 Fohat el it {1t welmt feen s =nfe o 1
AT 5:4 2 W2

(A) 100 (B) 103
(©) 125 (D) 175
(F) Sraia s

U et H w9, STt ST ATl T AT S 7 4:6:9 5T 39 2
Ff& 1l 72T <t T, 9 el o1 T § 15 316 €, a1 g

et et TR E
(A) 76 (B) 85 OEAD
(91 (1) 95 EFE
(F) oTgaid 94

3okl ST 3 < U TG H 3:2 o AT 0 T e 3
ST ST e STT=T S Torermr =61 77 TR 1 ST 2:1 9m) =9
F IAH TR FA A 1,57,300 9T FHA R e Tl e
(A) T 48,000
(C) ¥ 48,400
(L) FE@TT

(B) T 4%.200
(D) T 48,600

[R IR A B L1
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A train of 200 m crosses a wuanel of length of 160 m in 24
scconds. What is the speed of thc train?

fA) 153km/hr (B) 18km/hr
fCy 54l hr (D) 72km ¢
{E) Qucstion not attcmpted

L
E-:I:

If Renu gain 20% profit by sclling one purse at
T 7,500 and have loss of 5% by sclling another purse at
T §8,550. Will shic have gain or loss and by how much
percentage?

{A) Loss, 3.72 %

{C) Loss, 6.26 %

{E) Qucstion not attempted

(B) Gain, 5.24 %
(D) Gain, 4.18 %

Amit spends 35% of his salary on food and 23% on
children’s cducation. He spends 80% of the rentaining
moncy on rent of the house, What pereentage of his salary
lic 1s left with?

{A) 10%,

(Cy 6%

{E) Quecstion not attempted

(B) 8%
(D) 4%

Harish invested a total of T 27,000 on siniple intercst, partly
at 13% and the remaining at 5% per annum. If e carns
cqual terests trom the two Wivestments afier 4 years, then
find the sum invested at 5% per anuum rate of interest.

(A) T 13,500 (B) ¥ 7,500

(C)y T 8,000 (D) T 19,500

{E) Qucstion not attcmpted

Find the compound interest on ¥ 78,125 for 15 months at
16% per annum compounded halt yvearly.

(A)y T 16,645 (B) ¥20,290

(C) T 8,063 (D) T35410

{E) Qucstion not attcmpted

A sum of moncy increases by 60% of itself’ in 4 years on
simiple interest. What will be the compound interest on
T 9,200 in 2 years at the same rate of interest compounded
annually?

(A) 2,967

(Cy T2,679

{E) Qucstion not attcmpted

(B) ¥ 2,697
(DY T2976

The ratio of numbecr of boys to number of girls in a school
haviag 840 students is 5:3. How many niorc girls should be
admitted to make this ratio 5:4?

{A) 100 (B) 105

(Cy 125 (D) 175

{E) Qucstion not attcmpted

The ratio of number of green, red and bluc balls in a bag is
4:6:9. If the nwuber of bluc balls is 15 more than that of red
balls, then how many balls arc there in the bag?

(A) 76 (B) 85

(Cy 91 (D) 95

{E) Qucstion not attcmpted

Ankit and Aman invested amount in the ratio 3:2 and the
ratio berween amount invested by Ankit and Amish was 2:1
for a business. At the cnd of the year their total profit was
T 1,57,300. How much amount will be reccived by Aman?
(A) T 48,000 (B) T 48,200

(C) T 48,400 (D) T 48,600

{E) Qucstion not attcmpted
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79 AfFmiFmE2feaiamawa MBI AT uwar | 79
81 SeEr T u fa avm fom oft s wm ¢ o far
ERIRIERSEE & Eat EAIENE It EAE TE K RETE RES ]
GHUK
(®) 4 ®) 35
) 6 (D) 5
(E) S¥7eia o

80 g 1 fa o wred w0 e g 1 A A g S Iww |l | 8o
o gy shifere:

g 1 (7719 gt 11 ()
a. T 1. Towfafa
b, foremdi . IR
c. fTremr M. = gy
d. wTH v, gewfr
e e U faaeat W 9 Tl 3 1 T il
(A) a-Tl. bV, ¢ . dT  (B) aTIT b-T, - T1, d-TV
(C) a-11, b-TV, [, d-TI (D) a-TV, b-TIT, ¢-1, d-TI
(E) F7afawe

81 SR =2 H W IH FAI5: 81
(A) AT (B) =AM
(C) AT (D) T
(F) Said ug

82 ITTAT T H WIE T & 82
(A) o (By =97
(C) = (D) 3T
(E) S¥7eia o

83 faraforfia § % afg =1 wafgarh wee 7 & 83
(A) T (By wanm
(C) == (D) =TT
(F) STgaia 94

84 ST R o foTC ST B ATl e wred @ 84
(A) FEH (B) 3T
(C) I (D) TS
(F) Haha ug

85 “FRT T ST F T A AT, WA o st s | 89
G
(A) e (BY Fe E5E
(C) FaHT (D) e oy
(L) FE@wT

86 frrafcrfias & & 375 w1 o1 = - 86
2.  TERE be 9ftam
¢ SARET d.  vEsH
e Wi
e T T kel | HaH 39T a9 =
(A) FFAbHT ¢ (B) Faela 3R d
(C) el b A (D) HaeTa 3 e
(F) i sy

87 Frfertio & @ w8 #7
(A) A BaY= 7 7
(B) S FTIINT H 5 =l 2 3iien Jreft i e
(C)  Gfa-Tet = SIS T T FT 2 Tl ] 57
(D) HCH fawedt ST #)

(F) #ahd ug -

LK33CL ¢ 1} 11 B4 b S

A can do a work in 2 days and B can do it in 3 days. They
worked together Tor one day and the remaining work was
donc by C n onc day. How many days will C take to do the
work il he works alone?

(A} 4

) 6

(Cy Question not attempted

T 1 3 fom o wret <R e T 1 T S 3 wta

_ 1
(B) 35

(D) 5

% G hifsT:

T 1 (T57) T 1L it
a. TG [ et gy
b, ot 0, oty
c. fem I, = il
d. ¥ Iv. =ErEfa
I Tew o forepeddi & S |Et 39T 1 9 il

(A} w1, b-IV, 011, d-I
{C)y a-TL b-TV e-I, d-TI1
(Cy Question not attempted

a-1I1, b- I, ¢- 11, d- IV
a- IV, b-I, e-1, d-TT

(B)
(D)

AT 1ag | T S argy; E@%
(A) =T (B) M [mE
Rl (D) =

{E} Question not attempted
ST 9T H YA e &
() 9

(€)=

(Cy Question not attempted
Fefafaa & 1 -9y =1 qoiarEr s T8 2

(A) WM (B) Wl

(Cy = (D) =Tt

{E} Question not attempted

TSI 375 o ToTu Sk B9 AT fefeta w1 2:

(A) = (B) =T

(Cy g (D) e

(Cy Question not attempted

“fRT T IUFT FT T A TAT?, T AT 5 o7 3t Tes
BT

() T
(D) =1

GVREEL (B) F
(C) I (D) Hd=
(Cy Question not attempted

fFrerfofiaa = o 38 woat %1 = Fifeu-
a. EHICRY b, e
c. SEGEA d. TR
e. WM

Frer fou T ot & & He 3T I o e A
(A) FaeTh AN e (B) haota 3 d

(Cy FaeTb AT ¢ (D) FFAa Mo

{E} Question not attempted

famferfiaa 3 & -1 are 15 22

(A) TEFETE AER R

(B) I FTIISTH ‘5 sh1 SR 3fTdek areft R fear fore
(Cy TfeT-TeeiT 56 SFTE T SR AT kAT 27

(Dy Heen! fecelt SIAT 2l

(Cy Question not attempted
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fereaferfiae & & -8 sTeRr “HiEra aduTT F1er 1 I E?
(A) HaETgaE ¥ S3T8

(B) Yfer srenrer oht ot R G 2

(C) WHiawgT | =75 31 @l 2l

(D) RIS I8 < T 2

(E) oFgHia 9

GG G HETaR 7 37 2-

(A) T LT (B) TIMHE FA
(C) WU FE T (D) T S FT
(L) FIE@aws

“Fd Tig qaTiy, Sl =i 9. SR ® o7 8-
(A) 19T 3TTeRTd <o 21 T AT

(B) 394 Ry =l Bt firemr

() forel) s =1 STedt gF g BT

(1) o1 fa=i 1 w-aieRd

(E) Srfaia 74

e il T, Frafafaa 1 @ o wam @ Peret 22 e |
| W IUIR ey o)

(A) A (B) A RIS

(C) STETEC AN = (D) ek e

(E) oFgHia 9

TetET B Frerferfie 8 oS-t @ o i 3 g

(A) TR (B) STEHR T

(C) =9 Hier (D) s

(L) FIE@aws

TSTE W 3 el S (=g aii=r ieria o 9 fe
T o i 2

(A) &F (B) HIE!
(C)y A (1)) SO
(E) Srfaia 74

I Sl ST (201 1) 7 ST, TSI 3h] FHeT STEan 1
T e W ST TTHI & T Tedl 41

(A) 65% (B) 75%
(C) 85% (D) 45%
(E) oFgHia 9

S {57t 5 W g <6 e gt e - it s
HE Y

(A) THTET ST (B) EEE AR A
(C) TemTe (Dy T Wy Ty
(L) FIE@aws

2011 I SFTVMT < AR T # form foet § oo & &
ALY ST i ST G ST o7

(A) TR (B) HANIT
(Cy HAeTaL () S
(F) Sr{aia a4

(A) T WS A
(B) T e & =
(C) oAt e G
(D) ST AET IBH
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frefertea o o s A Cuiery A e 1 JEEe?
(A) HapigeR A darg|

(B) Tferd s 1 i1 F I R
(C) Hramgt o =g o1 @ wr i
(D) ISR =T & 1T 8l
{E} Question not attempted

(A} ATEET FHT (B) - GRITE AT

(C) eIl F&A1 (D) G I 1T
(LY  Question not attempted

e T oY, S <t 9, el o6 e 2-

(A) 37T 3TihTd @Rt & @ T

(B} 9= faru = et Toreme

(C) ot e =1 STl A AT

IR EACC R B BIE T

(F) Question nol allempled

(=]
1=
E [=]

The Tndira Gandhi Canal originates at which ot the following
places? {Choose the most appropriale oplion (rom below)
{A) Manpur (B) Dewas Hill

{C) Jawahar Sagar Dam (D) Harike Barrage

{E} Question not attempted

Which of the following is a saline water lake in Rajasthan?
{A) TDichola Lake (B) Jaisamand Lake

(C) Pachpadra Lake (1) Badi Lake

(LY Question not attempted

On which of the following mivers, 1s the “Bigalpur Major
Irrigation Project” constructed in Rajasthan?

{A) DBanas (B) Mahi

{C) Sabarmnati {D) Banganga

(E) Question not attempted

As per the Census of India (2011), approximatcly what
percentage ot the total population of Rajasthan lived in rural

areas’?
{A) 65% By 75%
{Cy 83% (D) 435%

{E} Question not attempted

Which dam is built on Bandi river near Sangancr arca of
Jaipur district?

(AY  Hemawas Dam

(C) Nevta Damn

(L) Question not attcmpted

(B) Khalakh Sagur Dam
(D) Bandi Sandhara Dam

Which district of Rajasthan had highest schedule casie
population in rural arca as per Census 20117

{A) Ganganagar {B) Nagaur

(C) Alwar (D) Jaipur

(F) Question nol allempled

Rocky feature of south-eastern Rajasthan, composed of
sandsione and limestone rock, with black Tertile sotl is
known as -

fA) Middlec Mahi-Chhappan Basin

{B) Eastern P'lain Region

(C) [uni Basin

(D)
{E) Qucstion not attcmpted
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freAlet e H ¥ 9|1 UHAT e (S 2025 ), ToredT o
T e BT HTtera FUE 27

(A) ST (B) SR E5E
(€) S (D) SO o
(E) oFgHia 9

feafefiag # @ =4 v U= A 998 7€ 9T i
S TR 87 (F E R R 39 fase 1)

(A) TeTE T 3 =g T

(B) TSTEL T4 G Tiided

(C) TSR 7 giEe Fy

(D) TR 324 v wiaes e

(F) Aa 94

T H A SHl Hie FET g 2, 9wl 2008 § wEg A
AT 8% o1

(A) AT fepar
(C) TG ferem
(F) Said ug

What is the ofTicial/lechnical term (or- “Something which is

(B) HEUATE fehaT
(D) TETTE fen

officially approved or granted™?

(A) sanctioned GEREI"T%) {B} rcvolution (ﬂﬁ)

(C) prosidency (1TAUT) (D) parole (FAfTET Eh'l'{'l'flﬁ!?)
(F) Said ug

TSR oA Hift 2023 % AR, TEIH T=7 § g1 a4 &
(FATUHT) T 5 hiifersr &7 1 foraar gl 27

(A) 8.6% By 7.6%
(C) 12.6% (D) 9.6%
(F) Sraia s

T=1ET ST UTfeRea ™ =i s s Sreft €181 =1 1 919
FTE?

(A) g (B) HervTeT tan
(C) 9T TASHERT (D) TSI T
(F) Sraia s

qAd &1 FiH-47 Fefafad 19 gewye % g9 SJodt g
I TR A1 87

(A) dsme (B) WU
(C) (D) WERTZ
(F) Said ug
5 T F1 et fes wwifeat § O w98 v 3= 8
(A) THFTE (B) @i
(C) TLTEETR (D} sam
(L) FE@TT

et g s = § Freferfiaa § O F9-0 e e 2

(A) THHI F3AT 1 Bl 2
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Which one of the following is the only city ruianing the
“Metro Rail” service in Rajasthan (as on June 202377

(A) Ajmer (B} Jaipur

{Cy Jodhpur (D) Udaipur

{E) Qucstion not attcmpted

Which of the following is the largest government-run
intereity bus-service provider in the state of Rajasthan?
{Choose the most appropriate option trom lelow)

(A)
(B}
(C)
(D)
(£
Where Temple
Rajasthan where the 2008 stampede occwred ?
(A) Amber Forl {B) Mehrangarh Fort
{Cy Junagarh Fort (D) Nahargarh Fort
{E} Quecstion not attempted

Rajasthan State Intercily Bus Corporation

Rajasthan State Road Transport Corporation
Rajasthan Bus Transport Corporation

Tajasthan Intercity Local Transport Corporation
Question not atlempled

n

is the Chamunda  Devi located

What is the officialtechnical term for- “Something which is
otficially approved or granted”™?

{A) sanctioned {Hﬁﬁ) (B) revolution (Eh"iﬁf)

(C) presidency (SIE4&TE) (D) parole (HIfd=Y FHHH)
(L) Question not attecmpted

According o Rajasthan Forest Policy 2023, Recorded
Forest Arca (RFA) in the State of Rajasthan is what percent
ot the State’s Geographical Arca?

{A) B.6% (B) 7.6%

(Cy 12.6% (1) 9.0%

(LY  Question not attempted

What is the name of the boundary hine that separates
Rajasthan from Puakistan?
{A) Durand Linc

{C) Talk Strait

(E) Question not attempted

(B) McMahon Line
(D) Radcliffe Line

Which of the following statcs of India docs mot share its
border with Rajasthan?

(A} Punjab

{Cy Haryana

{E) Qucstion not attcmpted

(B} Uuar Pradesh
(D) Maharashtra

Among the following peaks of Rajasthan, which one is the
highest?

{A) Taragarh

(Cy Raghunathgarh

(LY  Question not attempted

(B) Kho
(D) Jarga

Which of the followinyg statements regarding desert soil 1s

mcorrect?

{A) Ithas low fortility.

{B) Thc wostern parts of Rajasthan have a high percentage
of this type of soil.

(Cy The waler-relention capacity of this lype of soil is

high.

{D) Tthas good watcr drainage duc to large pores berween
the sand particles.

(F) Question nol allempled
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TSR H L] 1 ST SR AT o 9§ Gt @ = (e,
UTITe: ©F O TEHTel T FT STt =T =T Jee i A0 o 2

(A) IS HH (340 (By afeat @@
(C) =< Uik =4 (D} =Y HH
(E) oFgHia 9

fafafige 0 & #F-u1 v wfinm € s usa =1 fpa =29
HTRAT ST ATHI W Faer H E1 AaTH Aqgr 1
T A

i
(A) TR HIam i
(B) ATAH Heaq

(C) TR STl O AT TR ikl g e

(D) T I I

(F) Sraiayd

TSR H, SEEHT 51t o1 SAfianian W Fre TR o Setary]
SERIG K

(A) 0 T & (B) TS ATy &

(C) ATAETTEIAT (D) I &

(F) Sraiayd

feefeafiga o & FH-d1 781 = 44 F1 TerE 19 T8 27
(A) HTEE!E (B) IR 4

(C) =78 A (D} =19 e

(L) FE@TT

‘Office Order’ %%’QW e s -

(A) stieg=a1 (B) S

(C) g (D) AT AT

(E) ¥ 9

SR U5 = W rAfeTRad J © fhek e gian 22

(A) HTRT T & 97

(B) o= g sAftamfEt & aeg

(C) T FHAR 3 HF GI-T= -] & Je
(D) | FETeT 71 TE=2 YT =6 767

(L) FE@TT

T 15 T U, T =1 SIT9 Wk 61 2496 Yoo
A T A, A I T &

(A) it (B) PFITeA-FE

(C) SIETF (D) sl

(E) o7 94

Fill in the blank in the following sentence with the correet
tense:

IThe sticks Lo his exercise regime, he his ideal
weizht by the end of this year.

(A) had rcached

(C) s being reached
(F) I aid ug

{B) has been reaching
fD) will reach

R
S
i,
.é.'-..
(=] =]

4 14

107

108

109

110

111

112

113

114

What is the name of the grass speeics, whicl is traditionally
used to keep rooms cool and naturally aromatic in Rajasthan'?
(A) Bermuda grass (Durva)(B)  Vetiver (Khus)

{C) Blue Panic grass (D) Sewan prass

{E) Qucstion not attcmpted

Which of the following is an approach. wherein state forest
departments support local forcst-dwelling communitics in
forest conservation and natural resource management?

(A)
(B)
()
(D}
(F)

In-Situ Conservalion

Wetland Conservation

Native Species based Ecological Restoration
Joint Forest Management

Question nol atlempled

In Rajasthan, most ot the Jaisalmer district falls under which
type of climate region?

(AY Semi Arid Region

{B) Humid Climatic Region

{Cy Very Humid Climatc Region

(D) Arid Region

(F}  Question notl atempled

Which of the following rivers is not a tributary of Chambal
River?

{A) TParbati river (B) Kalisindh river
{C}y Jawat river {D) Banas river

(L) Question not attempted

[=:¥[=

A=

*Office Ovder’ %WW%W%—

(A) FeREaT (B) SITHAT:

(Cy dftgx (D) AT 18T

(L) Question not attcmpted

‘TR o 1 YA T ferfiag § @ fores me gia7 82
(A} TR S SaT & 7e

(By faf vt srferemfet = 7o

(C) TUEHRI FHATT ST 39 W-arafl F ae

(D) TFRT w31 Y1592 a1 o Te

{E) Qucstion not attcmpted

e 12 LR AT O, R A-F 19 7 194 Uek 919 374k UiNferat
T ¥ISTT S TET &, O 3 T Fed 57

(A) TioR (B) THEATETT-3ATEET

(C) T (D) A

(E) Question not attempted

Fill in the blank in the following sentence with the correct
lense:

Tt he sticks to his exercise regime, he lis ideal

weight by the end of this year.
(A} had reached
(€
(E)

(B) has been reaching
is being reached (D) will reach

Question not attempted
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Cloosc the mot appropriate option to convert the given
sentcnce from Active to Passive Voice:

His employees were mocking him.

{A) Hc is been mocked by his cmployecs.

(B) Hc was being mocked by liis cmiployecs.

(C) His cmployees nocked him,

(D) Hc was tound to be mocked by lis ciplovecs.

(E) oFgHia 9

Cloosc the most appropriate option to convert the given
sentenee from Dircet to Indirect Specch:

She said 1o me, “We arc to leave for the theatre carly.”

(A)
(B)
(©)
(D) Shc insisted on leaving tor the theatre carly.

(Ej TN W

Shic told me that we werce to leave for the theatre carly.
Shc inquired if we were to leave for the theatre carly.

Shic said that we arc to leave for the theatre carly.

Cloosc the most appropriate option to convert the given
Nepative Sentence to an Affirmative Scntence:

There i1s no rosc without a thorn.

(A) Roscs have thorus.

{B) Thorns arc commonly found on roscs.

(C) Every rosc has a thorn.

(D) No roscs without thorns arc prescnt.

(E) oFgHia 9

Cloosc the most appropriate option to convert the given
Interropative Sentenee to an Assertive Scutenec:

Why wastc moncy on desigher bags?

(A) Designer bags arc an cXpensive INonctary investment.
{B) It is foolish to wastc moncy on designer bags.

(C) What a wastc designer bags arc!

(D) Everybody wastes moncy on these designer bags.

(E) oFgHia 9

Cloosc the most appropriate option to convert the given
Assertive Sentence 1o an Exclamatory Scitence:

It is contcmptible that you arc a scammer,

(A) Alas! What a scanuner.

(B) ©Ohto be a scamumer!

S i
(8]

(C) 1 wish you were not a scamimer.

(=]

(D) Fic, what a scammer you arc!

(E) AgHia a9

Choose the most appropriate option in order to make the
following sentence grammatically correct.

Anstotle was one of the wisest man that ever lived.

(B)
(C) one of the wisest men {D) no correction needed

(E) Srfaia o4

(A) one wise man one of the wise men
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(LY  Question not attempted

Choose the most appropriate option to convert the given
sentence from Active to [*assive Voice:
ol E;J-'IE

Ilis employees were mocking him, ke

{A) Hc is been mocked by his employcecs.

{B) Hc was being mocked by his employcees.

{C) His employees mocked him.

(M) e was found 1o be mocked by his employees.

(L) Question not attempted

Choosc the most appropriatc option to convert the given
sentence from Direct to Tndivect Speech:

She said o me, “We are Lo leave lor the theatre early,”

{A) She told me that we were to leave for the theatre carly.
{B) Shc inquired it we werce to leave for the theatre carly.
(C) She said that we are to leave for the theatre early.

(N} She insisted on leaving for the thealre early.

(L) Question naot attempted

Choose the most appropriate option to convert the given
Negative Senlence w an A limmalive Senlence:

There is no rose without a thorn,

{A) Roses liave thorns.

{B) Thornsg are commonly tound on roses.

(Y Every rose has a thorn,

(D) No roses without thorns are present.

(L) Question not attcmpted

Choose the most appropriate option to convert the given
Interrogalive Sentence Lo an Asserlive Senlence:

Why waste money on designer bags?

fA) Desigier bags arc an cxpelisive nlonetary iivestment.
{B) Ttis foolish to waste money on designer bags.

(C) Whal a wasle designer bags are!

(D) Cwverybody wastes money on these designer bags.

{E) Qucstion not attcmpted

Choose the most appropriate option to convert the given
Asserlive Sentence o an Exclamalory Senience:

It is contemiptible that you arc 4 scaminer.

{A) Alas! What a scammcr.

(B} Oh to be a scammer!

(C) 1 wish you were ol a scamimer,

(D} Fic, what a scammer you arc!

{E} Quecstion not attempted

Choovse the most appropriale option in order to make the
following sentence grammatically correct.

Aristotle was onc of the wisest man that cver lived.

{A) one wise man (B) one of the wise men

(C) one of the wisest men  (13) no correction needed
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